	Mesmerising Year 5

Hazel bought three cards and a book for £5.34. The cards cost 45p each. How much does the book cost?
Top Tip- Use post-it notes
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	Mesmerising Year 5

A carpet costs £24 per square metre. How much would it cost to carpet a room 5m long and 3.86m wide?

Top Tip- You may want to use straws to see this (visualise it) & use a calculator
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	Mesmerising Year 5

Eight 350ml beakers are filled from a full 4.5 litre flask of tea. How much tea is left in the flask?
Top Tip 1 litre= 1000mls
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	Mesmerising Year 5

Nuts cost £3.80 per kg. Mark bought 250g. How much change will he receive from £5?
Top Tip 1000g = 1kg
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	Mesmerising Year 5

Scott opened his parachute 750 feet above ground level. He had already fallen ¾ of the way to the ground. How high was the plane flying when he jumped?
Top Tip- Use Post-it notes or straws for this
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	Mesmerising Year 5

A ribbon is 10 metres long. 4.2 metres is cut off. How many 60cm lengths can be cut from the remaining ribbon?
Top Tip 100cm = 1 metre




	Mesmerising Year 5

A pilot’s training flight lasts 1 hour 25 minutes. How many flights will he make before he has completed 50 hours flying time?
Top Tip Remember that you are dealing with time here 1 hour = 60 minutes
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	Mesmerising Year 5

George swims 4km every day. The pool is 50m in length. How many lengths does he swim every day?

How many lengths does he swim in one week?
Top Tip 1000m = 1km
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	Mesmerising Year 5

The perimeter of a square field is 360m. How much money will the farmer make if he sells it for £100 per square metre?
Top Tip- Read the question & read it again.

 Remember the formula for area is Length x Width
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